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1. Which quadrant s the vertex of (y +3) = (x=2)" located in? mAoI
a) I B! o 1 ‘
Vertex & m| v

(2,73)=> QUADRANT IL

. Which quadrant is the vertex of % y-2)=(x+ 3)2 located in?
a) 1 o 1 4 v

N

Necrex ¢
(=3, 2)=>QUADRANT TC

3. Rewrite the following equation in standard form: 4(y —1)=x’
a) y=-4+1 Oy=ai-l @ y-idel
=4 (y=)=x2(TF,

= =l x?
"‘r-i‘._x"'{—i (sS¥)

8. Given this graph and its equation: i (y-k=(x-h? SKETCH:

‘What would happen if “h” was changes? The graph would:

¢) be reflected in the x-axis d) be stretched

#&#HI

9. 'What would happen if “k” was changed? The graph would:
a) move sideways ((b) move up ordown Y

¢) be reflected in the x-axis d) be stretched

4. Rewrite the following equation in transformational form: y = i x- 2)2 +1

Diys)=(-2" 9 Ee-D=@+2 &) 3y )=x- 17
Y )

XD 8

-2
x-5)*(T ) .
¢ Tollowing equation in general form: y =2(x — 12 +3
V=P 45 b)y=2345 o) y=28-3
H(%-1)*+3 (SF) § = 2x2-2x-2x+2+3

\7: (@x-2)x-1)+3 VT @A X +5(sF)

6. Where is the axis of symmetry located in the following parabola: 2(y—1)=(x— })2

Q) x=2 b x=1 y-1 ~ertexs(3,1)
Ax\so‘i-Syrmmein- IX=3

7. What would be the range of the following quadratic function: -2(y - 1)=(x+ 1)? VQV*‘eX:L‘\ll)
9{yly22yeR} b {x|x<-LxeR} (H{yly<LyeR DOL{xx2Lxef} Rorges o
*# Opens Dolnward. $91Y<,yER3

10. Sketch the graph of : y =2(x —1)*- 10 ]
“
x|y i

=218 =|

i |-2] ‘5
o[-8 N
i :I% 4

2 |~ )

3[-2 “Q-$-T-e-5-4-3--i ] 123956789 Ty

What is the Domain? {?&’ xXE R}
What is the Range? z‘ﬁl 3 Z-(0, 35 R}




parabola are (2, 0) and (10, 0). Which of the following points could be the vertex?
SKETCH:

11. The x-intercepts of a
a) (12,0) c) (6.4) d) (8. -4)
* Since the vectex will be half
Way in between the x-intevcepts
Averngeof X-valuest 2+10=12=¢ ()
z 2
=> Vertex$ (6, ?)

H*¥ 2 possible  solutions —=> checK SHeteh !
12. The x-intercepts of a parabola are (-3, 0) and (11, 0). Which of the following points could be the vertex?
b (7.3) d @4
SKETCH: ,
9 (4,4)
-3 t=5 =4

a) (8,-4)
7 2 ‘7
=> Vertex s (H, 2)

Average oF X-values?
X 2 possible solutions—> cheek sketch

15. Place the following functions in both standard and transformational form:
8 y=x+12x+40 b) y=-2x'+8x-10
4o = X212x  YHO= 238
U OHT= (12X £36)YHO= 20X j"“‘)

= (Xt6)? Y io-g = -2 (XE4%H)
Y y+z= -0 (x-2)*
SR Y= —2(X-D*=2

= 3%X* 12 \
\,,_Sx * d).‘_ ui= - x*ridx
1y = =2 (x>=1x)

= = 3O ) 7
= (X244 Y+
\l:: _ aCxy2)* Y "‘iz_
YLSF). - mx)=2 Y l-i%l A
=(x+2)* N7 H T

(re) G(V’f‘ﬁ) ¢ (SF
re) =

©P y= (X6 "+
(rF) (y-4) = GO ey r2) =2
. = =Ox*+ 14Xz

A= —o(K=TXE
qs;q = Sp(x=")*

—o(xM2 s
v=-2( x="l2
b= (x= Ry

13.

~

~ L L

d) 3y-2=(x-1y%

Rewrite the following equation in transformational form: y =3(x — 1)2 +2
D (y+2=3x=1 (B 3(y-D=(x-1 ) o) A(y-2=3x-1"
= 3(x-1)24+27(SF

.-Iz = 3C(x-1)?

L(y2)= )2 )
>
) y-7=(x-27 ©-(y-N=(x+2 O3 (y+2)=(x-7

14. Rewrite the following equation in transformational form: y =3x>— 12x +5

.
Y= IXTI2X 45 (eF)

3%*-12x
B(x*-H4x
= S(XZ—HX +L|)

3 (x=-2)2

5=
- =
-5
1=
+1)= (x-2)? (TF)

|
s
=

) .
24 oy kgues*’ |
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